HEHINZ / Components

BT =HILT—%4 / Technical Datall

No. 2% / Part name #=E / Pcs #ME / Material - RmME / Color+Finish
Wit kLD / Recommended torque . [T . FLEF A% VAR ADCI2 = Dol B (AL
M25 : 0.15N*m ~ 02N*m Corner block Diecast aluminium ADC12 Silver , Black*Painted (Unfinished inside)
9 AR ) TILSHH A A6063S-T5 DN —- BRI (NEREEE)
M3.M4 : 0.3N*m ~ 0.6N-m Frame Extruded aluminium A6063S-T5 Silver=Painted (Unfinished inside)
2 IL—LA . T ILSRHH A6063S-T5 DIVN—- BT (NERENER)
Panel support frame Extruded aluminium A6063S-T5 SilverPainted (Unfinished inside)
N . ISR ) 7 ILZHR A1100P DIN—-BE (EEERNE)
N Panel Aluminium A1100P Silver*Painted (Conductive inside)
5 HN— : 7 ILE4R A1100P DIN—-FE (EEERNE)
Top cover Aluminium A1100P Silver=Painted (Conductive inside)
6 TFThiN— : 7 ILZHR A1100P DILN—-RE (REERLE)
Bottom cover Aluminium A1100P Silver=Painted (Conductive inside)
JLE TPE (T35RF) T3vY
; Rubber feet 4 TPE (Elastomer) Black
TILZRE FILT & YYarvd IIIN—TFILIA& TS5V
Aluminium feet Aluminium & Silicone Silver*Anodized & Black
g ERfHE X (IMM3 x 8) 1 &% =T ILAYE
Screw (Flat head M3 - 8) Steel Nickel plated
-~ N ; Ry "W
F view 9 BTE X (E#M3 x 5) 8 % ZuTILAYE
Screw (Trapezoid head M3 - 5) Steel Nickel plated
10 BR{FER (/N1 EM4 x 8) 4 % ZEE/AA—F
Screw (Bind head M4 - 8) Steel Black trivalent chromate
» HBATER GETMIEFTAM25x7) 8 &% Zwr)LAyE
Screw (Captive pan head M2.5 - 7) Steel Nickel plated
y
3
FIF / Product Number
AUP - - _ |
HFi& wti& DFi& BR/A ERP/H) 4%
H dimension W dimension D dimension Feet (R or A) Screw (P or H) Color Type
B AL#k / Feet specification EHE X4L#% / Original trapezoid head screw specification
2
10 12 4
E:I“AE / Rubber feet 7ILSRZ / Aluminium feet IE 7SR / Phillips 733 / Hexagon—socket
B AL#k / Color Type M/ Title N —
= O == o . - s 7\
i05 / Code a3—7F—708v% / Corner block B4R / Frame ISFRIL / Panel #$173— / Top cover | T7/3— / Bottom cover TAKACHI| HARMINFERIR INRIIVERTILES Y r—X /8 S
S S < )LsS— / Silver 2 JLIN— / Silver | 2 JLsN— / Silver < )L13— / Silver < )LsS— / Silver TAKACHI ELECTRONICS ENCLOSURE CO., LTD. ALUMINIUM ENCLOSURE with DETACHABLE PANELS R 5o
S B 75974 / Black 2 )Ls8— / Silver | 2)LsS— / Silver < JLsN— / Silver 2 )LsS— / Silver 2/ Approved 1% [B/Checked [ /Created F4Z/Product number =/ meae
I A& AUP177-30-25000-0000

R—/Page

{ERLH/Date 2024/05/23 177

AREDEFEIIBRRSHINDFER T E(CRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




B-B(1:4)

iO%%
oA
4
o

Io

[ -

e —

D view

253

203

177+0.5

E view

A view
300+0.5
<— A
EJ U |
B ]
AN R—
8]
= A
F view

]
L

15

A-A(1:4) C-C(1:4)
L o
o ~
236 292
C view B view
250%0.5
K LB
fua/Title -
TAKACHI| X2 hFERIE INRILBBRTILZS S r—R @ [
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. ALUMINIUM ENGLOSURE with DETAGHABLE PANELS |——
7 E8/Approved 1%/ Checked #[/Created | E!F/Product number RE/Scale
1:4
iR £ [ A AUP177-30-25000-000 -
~N— /Page
€A B /Date 2024/05/23 2 /1

AREDEFEIIBRRSHINDFER T E(CRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




C fAl#% / C Frame 200 225

[9p)
(o
©
[9p)
o .
— ©
3
@
[9p)
==
™
<
e @
5 5
2-M3FY I}
M / Front side 2-M3 Countersunk ZEM / Back side
X RxIE+EH R / Same on the other side.
D {8I#% / D Frame
=)
p
2 m _
%M / Front side gs —| ZZM / Back side
4/ Title A —
= A ==
TAKACHI] #HSHANTFEHTE FIAR O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
£/ Approved #% X/ Checked #I[X]/Created FIE /Product number RIE/Scale
1:3
R £ GES e
H177 - D250 YR B /Date 2024/05/15 3 /1
AREDEFEIIBRRSHINDFER T E(CRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




250 68 2

225

0
<
1.6
)
©, ©
Y s o
N
5 3 3.3
2-M3FHY IR
2-M3 Countersunk
147K / Total 4 pieces
4/ Title A —
A ==
TAKACHI] #HASHSNFEHRTE IL—L O L]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel support frame
£/ Approved #% X/ Checked #I[X]/Created FIE /Product number RIE/Scale
1:15
iR = B o
W300 1ERk B /Date 2024/05/15 4 /7
AREDEFEIIBRRSHINDFER T E(CRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




A /\FRRJL / A Panel

249.5

164

>
A

oY
S

RM® / Front side

B /\®x)L / B Panel

H#~Ti% / Max dim.242+0.5

M / Front side

B#TiE / Max dim.143.6 05

3.5 2 226

156.5

fREES—HA

Surface protective film side

[ ) &
4-M2 5 AR L RY)—T
4-Metal sleeve for M2.5 ZZM / Back side
[ ) ©
RE—MA
Surface protective film side
[ ) ©®

2| / Back side

mnd/Title
HRRUINTEMTE e O[]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel
£/ Approved 12X/ Checked #1[X/Created FIFE /Product number RE/?C;l;
iR x FES e
H177 — W300 {ERL H /Date 2024/05/15 5 /1
AREOEEEIIHARIHINFEMIECIRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




289.4

4-R14.7 270 4-24.5 2

/7

N
£94

239.4
220

REES—HA

Surface protective film side

A#h~ti% / Max dim. 203+0.5

o)
N °y

H#~ti% / Max dim. 253+0.5

M / Front side

ZEm / Back side

PAN
N/

o
’

/

a4/ Title
TAKACHI| HASHINFEKIE FN— () G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
23/ Approved t&X/Checked #I[X]/Created FIFE /Product number RE/Scale
1:3
hif : Bt R e
W300 - D250 1ERk B /Date 2022/11/16 6 7/ 7

AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




289.4

270
241.4 2
4-R14.7 4-245
/o P /o A

o
o
+H
™
o
N
£
©

s g I x

g 8 2 3
~
H REES—AY
_-Il_.; Surface protective film side
R
i

N o/ \® o/
4-M4
H#~ti% / Max dim. 253+0.5
M@ / Front side = / Back side

mn4/Title
. A R
TAKACHI| HASHINFEKIE THhiN— @) G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Bottom cover
T - - RE/Scale
£%/Approved 1&[X/Checked #I[X]/Created FIE /Product number
1:3
k4
iR E3 B4 ey o
W300 - D250 1ERk B /Date 2022/11/16 7 /71
AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.






